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FRAERT 95 102 115 217|Fn mET 157 153 153 306|#%ET—TH 275 253 191 444| R IHET 231 270 294 564
FRIAT 201 196 219 415| (AP 11,928 11,647 12,811 24, 458|387 _T8H 143 142 119 261|FERIERT 589 714 805 1,519
JEET 356 328 395 723 ®RET=TH 126 131 110 2411 KIEHIK 3,373]  4,140| 4,320 8,460
AT 533 560 601 1, 161|8RERT 236 265 287 SE2| AT T B 76 62 54 116
B HAT 325 326 345 671|BRERET 3,561| 3,864] 3,937 7,801 ANEHIK 9,864| 10,618 10,031 20, 649/ T 331 440 458 898
FEHIRT 270 238 255 493 | FEmTET 178 201 223 424 AERAT 200 279 303 582
AT 122 119 131 2504 FRRT 535 526 551 1, 077|BriRET 1,124 1,451 1,478|  2,929|#%ILUET—TH 601 686 798| 1,484
KAGRT 611 592 605 1, 197|7TAET 3,558|  3,869] 4,010 7, 879|H{REFAT 352 403 440 8433 IUET T B 232 260 274 534
SR ET 17 13 16 29| BiRET 3,197| 3,555 3,648 7, 203|FRAT 1,631 1,748 1,902 3, 650|4R/NEET 626 751 792| 1,543
ELHT 49 46 56 102| Z 1A 560 625 622| 1,247| B EHET 998 1,217 1,183  2,400] L&A 1,484 1,867, 2,023 3,890
FnmaET 217 230 272 502| & BERT 1,298 1,523 1,572| 3,005 HEEMK 4,105/ 4,819 5,003] 9,822 mINIEHK 3,474 4,283 4,648 8,931
ElptLay 68 59 59 118| KT 156 155 175 330
FURRET 112 104 113 217| B BT 349 427 496 923|FFEFIT 2,648, 2,896 3,106] 6, 002|% BAT 473 500 557 1,057
AT 145 105 95 200| HERAT—T B 353 398 413 811K \AKHET 1,068 1,238 1,201 2, 439| ZERTRT 283 364 362 726
FHRRT 76 58 77 135|FERATZTH 430 499 465 964} /N AAET 1,187  1,421| 1,421 2,842 B HEAT 746 827 832 1,659
THRE—TE 151 146 176 322|HERET=TE 442 538 514| 1, 052| EZFHT 414 506 544| 1, 050\ EET 200 253 250 503
TFEETZTR 122 144 130 27T4|RERETINT B 311 377 428 805|HIBETH —T B 34 29 21 50( & HHET 1, 047 1,303 1,394 2,697
TRAE=TH 127 132 141 273 BIRHE 15,164 16,822 17,341| 34,163|FARME_TH 99 104 91 195|#2 EHT 612 809 839 1,648
THEEET B 144 180 178 358 MER—TE 304 229 327 556 &KX 3,361 4,056 4,234 8,290
THAETET H 21 16 7 23| AT 3,640(  4,055| 4,237| 8, 202|MBET-TE 34 32 31 63
BEFnAT 425 428 496 924| A BT —T B 261 290 326 616|EBAT=T H 13 11 14 25| B BFRT 5,459 6,207 6,444 12,741
B SRET 22 18 22 40| FEETZTH 583 642 713| 1, 355|RIRETIT B 126 141 123 264| B RAT 204 289 320 609
- | ERT 164 165 187 352| FART=T 8 848 893 954| 1, 847|IRFLET 1,840 2,119| 2,290 4,409 EAEBFHIX 5, 663 6,586 6,764/ 13,350
fogicg==tu 37 25 34 59| F AT 1,699 1,801 1,926/ 3,727 FJI#HK 7,767 8,726 9,169| 17,895
HEAT 185 152 188 340| FRHRT 1,452| 1,526| 1,600 3,126 KIRAT 396 497 525 1,022
RIKAT 480 500 535 1, 035|EFHET 191 194 215 40943 AT 474 4990 602| 1, 101|FERT 486 586 576/ 1,162
WERT 36 28 36 64|\ FRET—T B 463 509 516| 1, 025|&IIFFET 2,166| 2,456 2,456| 4, 912| BEAET 581 708 664 1,372
EEHT 89 76 84 160|\FRETZT B 356 360 401 7611 TR SAT 224, 286 313 599| 78 SAT 137 156 139 295
HEAT 41 41 49 W|INFHRETZTH 453 469 539 1, 008|&EET 1,037| 1,166| 1,249 2, 415|FREHET 524 720 715| 1,435
HET 271 246 259 505 \FRETIET B 367 426 463 889| HELRRT 490 595 597| 1, 192|REET 359 444 405 849
& 172 177 177 354 AREHE 10,313] 11,165| 11,890 23, 055|HT/ZHET 362 371 456 827| B4 AT 510 648 657| 1,305
AR 596 626 669 1,295 J\ERT 2,155 2,631 2,747 5,378] Wy BHIX 2,993 3,759 3,681 7,440
R HART 31 29 24 53| LiEEFET 2,195 2,527 2,609 5, 136|%MET 132 178 177 355
= RAT 526 522 572| 1, 094|{EEFEEAT 37 40 45 85| NIEHX 7,040 8,182  8,597| 16, 779| L¥ERT 251 334 336 670
HERT 25 29 28 57| L /ERT 3,444 3,819| 3,734, 7,553 TEETFHT 133 176 182 358
B RLAT 195 175 176 351 (b FERT 348 416 464 880 L& [HAT 1,187|  1,409| 1,468 2,877| T MAET 143 208 197 405
EAT 166 168 172 340| 5T 632 634 673 1, 307| FEMET 1,793  2,108| 2,156| 4, 264| T EHT 376 483 471 954
HARET 368 346 394 740| T AT 1,146 1,372 1,398 2, 770|hE AT 797 930 990| 1, 920| % BET 289 418 402 820
FHEEET 34 31 37 68| T ZHHAT 1,397| 1,754 1,756] 3, 510|dLALRRET 406 463 490 953 | PR TFHT 384 442 415 857
A A AT 1,576 1,590| 1,774 3,364 FH/EET 965 1,182 1,214 2,396 EmHIX 4,183 4,910| 5,104 10, 014|/\WERAET 328 440 452 892
A BT 207 205 225 430|Hi ik FART 389 456 473 929 V)| H X 1,904 2,501| 2,455 4,956
&Ry 129 126 148 274\ BET—T B 523 598 567| 1, 165|#ET 478 587 602| 1,189
2l 165 144 159 303|HERTZTH 1,415 1,465 1,715] 3, 180|35HuET 440 585 581 1, 166| AHET=/ & 467 627 598 1,225
EITAT 191 195 242 437 FEET=TRH 629 702 772 1, 474|ACHTIRAT 159 204 201 405| B HETHE R 416 532 526 1,058
EN 188 167 187 354|HBETIUT B 615 702 736] 1, 438|717 /7ET 133 175 186 361| BRI 166 225 220 445
TLAE BT 110 90 61 151| INZERT 845 952 1,005/ 1,957|&/IET 1,124  1,412] 1,475 2, 887|AHETEK 111 148 159 307
BT 347 371 446 817|Fn £ AT 583 627 577 1, 204|FEETIRET 365 446 487 933| A HRT IR 336 399 421 820
)1 BT 250 194 251 445 {EPHIX 15,163 17,246 17,738] 34, 984|%[EAT 433 534 552] 1,086 AHHIX 1,496] 1,931 1,924/ 3,855
L1 BT 103 98 101 199 FRUERT 236 309 309 618 .
SHE 97 77 104 181] k/ BT 764 851 944| 1,795 EEFHIKX 3,368 4,252) 4,393 8, 645|ZMETHIAE 729 894 954| 1,848
g T 35 39 37 76] b/ NEET 459 574 624(.1,198 SERET & BOE 85 104 118 222
FA 41 50 44 94| L tAEAT 2,959 3,071 2,717| 5, 788|_EAUEHET 1,213 1,387 1,407 2, 794|FEHRETRAZ IR 325 216 194 410
baat L 73 75 76 161 T/ EHRT 2,133) 2,283 2,178 4, 461|785 KIFEAT 290 386 397 783| FEARET SRR 939  1,246| 1,294 2,540
LR 247 249 300 549| T/INGHET 1,540 1,637, 1,536 3, 173|LEIFAT 616 826 856 1, 682|EARTHIAR 403 531 548 1,079
FRART 387 348 378 726 FLAERT 1,389, 1,614] 1,558) 3, 172| FKIHAT 434 557 561 1, L18|%HRET 1,205 1,612 1,680 3,292
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ERRTTZ 739 967| 1,006 1, 973|FHHET/IME 142 210 209 419
HHRET S 322 483 483 966| & FHBT A (L 208 293 283 576
AT E H 209 280 262 542| & HETAHR 460 629 593 1,222
FESRET R A L 149} 195 210 405| EHETH)( 271 354 336 690
FHRRT =1 422 535 569| 1, 104|EFHRTHL 541 756 715 1,471
SEFRRT R E 6 6 8 14| FHATRE 399 545 564 1,109
FERETHIAIR 874| 1,199 1,226  2,425|HHETSHA 98 144 149 293
FEHRRT AR 1,657 1,951 2,045  3,996|EFATE 30 44 43 87
X 8,054 10,219 10,597 20, 816| FATHE{R 299 425 425 850
EFFATE 228 196 240 436
&R 3,374| 4,290  4,405| 8,695 HFHETHE 39 55 55 110
RFqET 1,517|  1,876] 2,023 3,899 FHAETKR 12 13 16 29
5 | FEET 463 622 689 1, 311|&HFETSZLER 390 532 510 1,042
£ EET 195 243 253 496| FFHATIER 40 57 67 124
ko=l 248 276 274 550| & AT AT 130 186 165 351
H7KRT 86 127 126 253| HFHETH 5 136 201 198 399
& B REET 71 101 111 212| FHET/h & 340 454 470 924
HE 5y ET 201 285 299 584 HET R AE 112 159 170 329
FEEHET 233 321 325 646| SFHETHH 172 212 221 433
ALRET 358 404 403 807| HHAT/NE 215 306 291 597
T AT . 3,166| 4,087| 4,038 8, 125|EHETEE 571 759 723 1,482
EHET 1,265 1,568 1,590 3,158\ HHATEHE—TA 321 377 391 768
= HET 715 957 963 1, 920|HHETEBEZTH 367 442 485 927
SR ET 1,376 1,600| 1,629| 3,229|EHETEBAZTE 270 382 363 745
& BT 1,165 1,421 1,429 2, 850| % FFET A 281 398 406 804
AT 413 521 558|  1,079| AT FRF 97 129 138 267
i mEy 619 804 813|  1,617|HFHHT LRTF 135 191 180 371
FEHIET 500 605 667| 1,272|EFETIRA 59 83 85 168
BEBHIX 15,965/ 20,108 20,595 40,703 WFHHX 9,337, 12,303| 12,390 24,693
oy 5,495 6,152 6,328 12,480
HRTHX 5,495, 6,152 6,328 12,480
T mET 1,150 1,479 1,564 3,043
125 [ ET 947 901 1,061 1,962
L mAT 461 597 592| 1,189
B4 LET 99 58 85 ° 143
B ET 42 35 57 92
EREAT 367 543 544 1,087
T ERET 902| 1,175, 1,229| 2,404
o B R ET 661 868 894 1,762
B RET 996 1,284 1,304| 2,588
AIRET 865 1,143 1,165 2,308
T T 684 892 939] 1,831
=E=1i) 172 233 243 476
-3 187 243 253 496
EiRET 334 473 458 931
=Y FRET 115 136 140 276
RT 116 161 154 315
BA X 8,098 10,221] 10,682 20,903
HHETEHI 632 766 793| 1,559
EHHETEHF 1,148 1,389 1,424 2,813
EHHETRR 232 312 327 639
EHITER 962|  1,304] 1,355 2,659 158, 108] 184, 646] 190, 695| 375, 341






